RED 00'(#
R <
<

DASHBOARD CB MOUNT

(1997-2006 WRANGLER TJ)

INSTALLATION INSTRUCTIONS

CONTENTS

1) Dashboard CB Mount

2) M6x1.00 x 20mm Allen Bolts
2) M6 Lock Washers

4) M6 Flat Washers

)

(
(
(
(
(2) M6 Lock Nuts

TOOLS REQUIRED

Phillips Screwdriver
4mm Allen Key (Optional)
10mm Wrench (Optional)

SKU # J165199
Edited: 02/01/2022



’
REDROCK:
z

STEP1

Remove (2) screws from the speaker cover on the dashboard.

/"ol
gl

STEP 2

Align the CB mount to the dashboard and install the original (2) Phillips screws through the mount
and into the dashboard at the original locations.

Note: CB mount can be installed at (2) height options. Install the screws at the desired height. Use
the included M6 hardware in the remaining holes to reinforce the mount, if necessary.

Installation is now complete.



	J165199 - RedRock 4x4 - Dashboard CB Antenna Mount (97-06 TJ)-01
	J165199 - RedRock 4x4 - Dashboard CB Antenna Mount (97-06 TJ)-02

